MATHEMATICS

Toppers' Answers-2018

Time : 3 Hours Max. Marks : 80

General Instructions :
(i) All questions in both the sections are compulsory.
(ii) This question paper consists of 30 question divided into four sections — A, B, C and D.
(iii) Section A contains 6 questions 1 mark each. Section B contains 6 question of 2 marks each. Section C contains
10 questions of 3 marks each. Section D contains 8 questions of 4 marks each.
(iv) There is no overall choice. However, an internal choice has been provided in four question of 3 marks each and 3
questions of 4 marks each. You have to attempt only one of the alternatives in all such questions.

(v) Use of calculator is not permitted.

| Delhi Set Code No. 30/1 |
SECTION-A
1L ')Ill X2y L=, lef o be other noot- & -
.'__L]_ Paoduef= _.:—_‘,: —__.;5[_:_5, =
/22t _ l
I\ \t JI d"?‘"%_./'_.. =

li Sum = "_:_;_‘[:fi;_'{__zk- -
[ =) 3+E2) =2k oy : I _
| f= .l (-
i =2k, le :'x;; 3 _ i
| [okeotfic Bl —

2 3| sweallesk piwes 2 . e

Smoallegt  compatite = 4 =
HEE (2, 4)=2
The HCF of 4he Swaliést prime and  cmallert composite 15 2.

—__1
[ i

A
3. 3| Distanee Letwean (%,y) and (0,0). - L
|! E-} @|'!;)"P‘.@".¥l L _
BN =@- -0+ -t _

\v_ 'ili_ __,./'.. = '&‘-l-ﬂ' - -

[l The ddistance is ]k’+y' ; ) _

4. .lg detdy, a,=4. The {inst 4emn 15 28-
A tna ad(n)d-
&\‘,; dys A (7-1) ()

2
4mas GxGu) /
__as 2%y /

)8,




2 ] Oswaal CBSE Previous 5 Years' Solved Papers, MATHEMATICS, Class — 10
5. o Corg>e~ sin?zae
|| et torien”
—— .(CNC'P + _!l'_ﬂ_?s!)/(;c.a:r)—sinll}
/ \2'} =Gar62 4 ofe7) (Coner -cos67)  [c0r0@ = sin@o-6)].
=0,
6. ~O A8 L b w1,
e ) a” anap} e 3 %
[ j =
A |||Ratie of aness is T'
SECTION -B
7 | Giivens [2 s poabonal S F : |]-
i ‘ Te prove: $43@ is iMrafonal. 7 i
! . B Dahueel So it is v fonm &, .
[ ProoP: Let wd atume TEEZ & da Ll B A L drﬂJ!lH
=) 5‘36:% C =
| 3a= %-i‘- ncibnay .
sfi: a-5b This shous Hhat J1 s ipnedoral (0-Shand Sar
% o %
fiz a-54 But we kmow fhat Vi is innahona .
3 T copisadicis pun assumphion dhat SHEE3 ig natibnel-
StAL7 is ivabonal, herce proved. -
l] b Xty 5
8. g}- riven, meckangle ABCo. R
1l =) oppanite nde ape equal. A= =
| benee, w4y =30 -0 P Yl | xy
= o p oo L
1 ‘f:u_. AL > ks L
1“ Subsfhieling in §), 224Y=}0 =
9. @) Sumof En € pmbpla of 3 _—
f{i‘\;ﬁmr an AP, 0=3, d=3. nel- iv 3
! Suny = Qnt\t—w.,__ _ -1 y 118 .
Sg> -g_— 2 { IV : ‘
10. Poirs A(2,3), B(63) olivided by Pt

Let Fhe namo be kif:
| By Sag Sechion fonreda,

P (4m)- Eﬂhfﬂm rhy.-my ol
T

@, w “fhe? _'



Toppers’ Answer - 2018

‘ =) k12 _4
kil

|' Ckrzz Yl
| 2k=2
k=1

Nat, .

The nake s [+

~3ks?
‘By Sog Sechion {onreda,

P (4m)- Emtmu l‘*‘mmy
it !

e 4y, )

=) bk _4
kil

Ckrzz Yl
2k=2
k=1

Nat., b

0D

The nake s [+

~3ked
feat

342
| M= m

m=D, -

11.

Value of m s O, the point iz £(4.0).

|91‘rwd|‘u-!w+ugdn

@;\)m) Tolat pucteame »

Gouplet: (1), 2.3), Q") Gry, G‘.ﬁ € G pu}b-ht!!

. Panbabitty = aufm.e._ 8ot le >
I Thul- =% e

- _.ni) Suwmof 10 c‘x‘} c‘.‘f) (!uﬁ -3 Faﬂ'\bﬂlﬁtf

~ Provabildy= Fawnable owfrore _;_‘,}.J_
Total pufrome :

Tivlege®, | 4o 109, (detween)

a\ =) dolal= as postible  outeomes.
i divitible by 8 12 pumpers.
=) Crolabiltys Fovonable oufrgme

L 'G
Telel odfome — .
i) not divisible by 8% G8-12z & numbesr
=) Prwbabilify= Me__ N |43
Tt ouckeamee ¢ LR
SECTION-C

13. 15)1

NMumbens; 404  q6.

((.lc.mu 20, 43,%, L4, 72, 4D, &R, G L)

. To find: HeF ond pcH.

Loy 9%
qou4 .9 o M- SR . CES
fi\liﬁ = e Her ® & 2, 24
2 e — A AN
J = __”\”_ Nt
“ 404 ‘Z‘*_:-:IS 2’
L

ac-2x3, 7

L3



41

Oswaal CBSE Previous 5 Years' Solved Papers, MATHEMATICS, Class — 10

|HeE = greatest common fackons 72< 4. |
f; Ler = alt Gciore (Jeatt gower)= 26 25X 3x 7xiz

o = =96y oy =
I * faeae] o
‘ Product of tuo_mavbirSc gx toy e SEYL T )
H - =38y B - B
Prnduet u!-_m:f-' ¥ Leme geqex 4 _
. =3%my. . b
“ chu, HcFx [eM s pnodetk of Lo yumbers. =T,

14. Vd Given, pelynemial Pf‘h’) 2% q-—ﬂ*’-{-i‘xﬂ!r-l

j Twe zenoes = 24{F and 2-3.

'Ii =2 Product of dwo zeapey i qle a Zeno.

I =) @nw;,-} [G+b (a-3)= a*- »?].
] :
“ Ar | sa 3 =D ¥-\ ir a facfom. =

1| Pividing, - £
X-1 ) 2% -‘Rx’gs‘:‘-ﬂn-l (zr‘ 7%2 _ 2¢ 4!
[ P R )
=*4Gx* 4 e
...?k!*?\‘z
=243y Y W
—=dnA 42% oS

’f_:*; XS\ \yd
5

=2 8y division_algonithi, —
elx) = (x=1) C.Zx.’ =T -2 a1).
NOow, 1h a ecubic polymomial, we knows
Sum_of 20045 = ~oe@.of !
(o of xf.

9(x)-

The neots of g6) e 2481, 2-0 and o
= ol z+5+z-ﬁ--‘f~71/

“ _ [vet do seale)
15. I'SAI y A (—6,'}}
uﬁw.@ Quadtnilateral ABLD: =)

fewoice 2) '[A €5.7) ,8Cs) ¢ (~1-e), P(4,3)
o Lﬁ;.a of quad ABCD.

r_)? | = cren AABD* caea ABCP.
'lmA AD > (1)

'|= L [’ﬂ(\-‘.-h)*&(‘&"ﬂ“ﬁ(—‘h o

_ B -#,-5)

c Cu-6)

| =l [—s(-?-ﬂ Ny (5= +4 (2+9)]

- L [#7 sor seas]] o

s i '



Toppers’ Answer - 2018

[ 5

: ; ,_;_xiﬂ‘s 51 ':hrk‘
onea ABED = L [x.c‘,,ay,).m{y, -v) o Wiev) ]

': "J‘ L— “{-C-85)4 C1) (D9 + ﬁ)(ff{p&]

\ 24 [4a-10t4 o N
:l - L ryp it

=2 Adas of Quadni fﬁ"‘uﬁ! Anea of Lo dnjangle. = {lﬂ#a?z‘m»,.

- rl Y Iﬂm,_.‘ Lmhhl&' ABED s ?2 89 uniit
"

16. lsj: Given: divmee {5 1508 k.
(Usual cpeadt» S.

<

-5 Fnom gueston, i‘-?o"

We ke, spendts Sibouse | MY fimen dirra
= Lame fve M/

I8

1500 Chat_an houn [ate].

| —— — P
ors Tz 5 £l 47O )
lsna K =
( e S

I 30::0-9 i
lOD'B' .

' = 032 albplying,

{ 30083 = 300000 - 1008 008 4200082

I| S' +10D1 -3 -0.

I

5* 16008 - 5008 - JocoOOe p |

- 5(r+600) ~S00 (2+600)= 0

it

f (5-590)(a1600) =0 .

Il 2 SSpoed on  §4600-0.

it =5 8= SDO km/h ~3 C2=600 kem fh

|;- =) S= 500 an 400 km/ha- >
’ But spesd  camnat B%:
il =2 Fﬁm wrnal fpeed of 4he _Plane (=) “"'Z“'l

17. !
: A A
1), Given. Square ABCH. A AEDand AARC ase exuiladeral. ——
(cvoicel] | Te pnoves Anea AAFC > 2¢ Anen AARD. . /
A [ ConSinucdin Draw EPLAD Gnd FB §AC T+ X
@' | Proof: LeX side of souare be X- N - ' ¥
=) wides of AHAED=z +

b ex=

| I Adoe,B=qon
=Py P‘!‘“‘\gﬂl“‘ }F"""“;
Ar®ibct>pots”
Yiewts Ag? - AC= v e sider o A =02x
Le fmaw, albtude of equilaleral A bisecH fhe bate.
= AQ s ¥ _
— PP i._, S
Tn AAEp, Lp=ton,
i Py Pyfhajonar -fhemens, AENMEP ;AP
x! =E‘P‘§§-—!“
H = %}‘éﬁ’ %“‘.
In AAFR, LD v40°
By Pytgerag Hheoren, AC:: Fgreaq®




6 ] Oswaal CBSE Previous 5 Years' Solved Papers, MATHEMATICS, Class — 10

.l vtz Fﬁ"_—;—t
' Fars A = {3y,
1 . - fx 2

’. We lwow, Anea of Aniangle = -Lx Basex height  Sp. tnia
[,' <> Anea of A s Lyfixx ra
‘ = PR E)
| =

- |

?-X

| Anea of AMEDLyxx Er.

H --j- X

ﬂ o

t 2-Anea of AAED= .-5.,:‘ = Ahea of A.M’C- 2 :
il hence paowl . N |

|
18. '3)*| Given: Cacle [O,m). AP and PB

ane fangentc drawn lo the cine-
C} Tn prove: PA=PB.

fatechion: Join OA,00 and OP-
i anF. Dﬂcgl,/ﬁma‘m]- (side).
| LoAp=Lokp=q0" (night ange)-

f nadis i3 peperdicular o 4 =

f fangent ot poit of comact ].
| of =of {lw,ol-enuu} b
i Lo iv HOAP ama AoBE, _
f by RHE COngruenty,

- AoAP 2 Appb

I b,csr:?,/

e e ——

=2 Ap= Bp.
i heice  pnoved
| — — b/ -
:
19. 1), Griven: -hnz&-w(‘s-lﬂ). 0. 9n <% (14 & amely)

To finds value of B T
We krow, 40n©: oHAD-E) and cotO= fan (ao-9).
- cob (Ao-26): Cot (A-18)

Applying o', on. Dotk Fides

90-24 =A-R-
) [og=38.
I il - ﬂl; :

llu‘n!u&ﬁ ic_3¢" l =

20. o) Grivtn: side of Squmse ADPs (2o, R SVORRPY! 2 SR Y
e T And: shaded ooen. e
Shadted anea % Anes st 4 yuadnanic = Anen of fquare.. | . - .
_Anea of uare « 3t -umm __Ls_: : E_
I Man’ ! 2 i
‘ Anea of guadrant < -y T® c9.unds SN e =

’ = -:}’-.u umcl'&.n.lfj _
X
| 2axaw s Yol W26 omt.



Toppers’ Answer - 2018

[ 7

| P2 Shaded et Anea of Syumre - 4 (Anen of Guadnard) Sg.anitd
= [gu - "'E’:}?ﬂ 0] -Cm _
= |4y - H3.04

H = 3096 cot.
‘- [']ﬁt @nes of the shaded negion 18 30 .86 ij[z.[

21. 2))  Covieal henp of nie;
(choica 2)]  Dimentions: didmeden= 2utm, height 3.5 m. ~snadius ~\2m-
| Volupe o cone = .;.\:‘H'I'l‘h o units-
i

i
4
- ! = ;t_zlvmuvuf cu: .
\ ) )’f i
At T

I = (32¢y —

|r . T 528 Cu.w. ’
{ h“l volume of fhe nite hegp i3 S28 uc-m.l
| Anea of cloth nequireds Cumed woface Grea.
Ch o8 cone = T spunit where 2= R wnite lll
| Finding £: @= Jhrnt woin

J| =257 Y e |;

4 = Jiscas [’T’TG axea of Canvat cloth  nequiredt
. = [2.5m. | s 47 9257w ]
| , =2 £SA= Ml gy.uniy — [
|
| [ 22 O
| | - -;.xt:{x 12 : _ .
|
[ - 22:199: oo, 470 TSR T
"= - — : . \ b,
22. 2y Diwibubion of 'ﬁ"ﬂluﬂv]ﬁﬁ; - g . e it
= salary i fhousand R31. | 5-10 | lo-15 | |5-20 [ 2047 | 2720 Ib"!s‘ et | .'m-_«r}_'_n_-ff._l
(h*)r_}_-l_n;_j'_gmmdi | 49 e | & ¢ | 7 4 | 2 | 1

L Te findt medion.

_ . he.of pegple= 220 =
=> -%: jue  the luot [exm lbies in clars igienal  [0-1S-

<7 peedian clasf= jo-lS.
'Q-: 0, heb £= 33, '[:'_':lqg_' c-¢= 4q. )

We kvow, wmedian h(ﬁ-:ﬁ-ﬁ)*h_ -
aSs .

= P 4o -
=dwedian= (0% l._‘l’“f'q:g. -
. 13 =
zlor Bhye

2

"

R
E 1043-42) )
= 13-ty

= H‘ modian salony is 13421 Housand W“'-J_

"




8 ] Oswaal CBSE Previous 5 Years' Solved Papers, MATHEMATICS, Class — 10

SECTION-D

e SL(%IMp ‘s q-_rm‘)

rfn_v:n thatt e, = bil

Speed of haat = [Blm/hn i SH waler.

Spead of sineam =5 (voniode, pust fraol) S U N SR

Dishance upsircane & back= 290k EETER S

Time upstheam= | In sche _than  fine deunsiieane. £
We know, mgeﬁm 'I‘fpc*_m_ —

T'Twe_nﬂ:m /émm_}.‘ta O

- 2% _ 1+ 2% = 4
T &= W

29 (g
B L BT TV N : @,w_’l‘“wm) - = &

24 (18+5) » @a4s) (18-9) & Z

432eMs = I5C+MS—4zs -5

- 4242454245 4422750 5
seyise (324) -0/

€' 4SYs-Gs ~224=D . % aN S

ﬁ]___ _ s(sava) 6(ses4) 0. £ 2 . o
e (Al SN P—
_ pNow, eithen S4=0 on $+54 =D B -t

= ey L oseesq.

So  speett:= & on -5¢ ki fbn- e e

24. x-h Giver, Sum of U Gouoecsfive ro- In AP 32.
’Ers\ Ao, nalo of tixt, (fer xlast) and Hue midde o praduet~ 1S
Leb _o.of loamd be . nth foam= L,w gqtln=)d-
A 4o ap(i=Nal.
iy~ at(n-) ok

L AC dhere gre dwo widdlle derws, g i even.
=) iddle dow |= m.(_n'ﬂ-.)d. Let ot be Of-
L micddlle Jom 2= ot [y - Ler his be B-
L] Sums %2, o 5‘:1.9;5_&“_&-5)4}-
!1_2_11:‘12'1_9:. +32d7,
24434 = |G .>(®).

Squaning @,  a"s Ga22256-, (3D
+ Lad




Toppers’ Answer - 2018

[ 9

I

= ¢ e DA 2 = | ]
Sobriifubing @ in @D Isqa - 756 Mﬁhh«:ﬂ‘] |>_
e (Cat= 25¢
| M“l zﬂ.‘ 3(\?

: TN st dad s Jte 2ladt jbeaty
€. - 1

- ———— ﬁ*ﬂmmmdvo
4=z -5

: |
. : M! |th, Rats Z*ld
[the nimbws v 2,610 enave]. ,#M

S (U3 )

Fad

25. 25| Grven AmRE i equilafoal

- ABwBCECA, LAs LBrLE= 60

G Dis a point oh BC such ot gDed B

e prove: G(aD)* = 7(AB).

Corstruchon: Daaw AE LBC.

Proof: Let BP=Y%. = =
=>Bes 3. A=A [ Apse s equiaias] [Gien BD- Lnc].

Airo, we. keow #at 8E=Lpc  [Auiude in equiaiosl A bisests base].

A £ AEB =%0% e

Tn Tyl A AVE, by Pythagonas Thessen,

BE 4AE < AR 2 Amsaxt > @.

Bl .(,!;a}'i.ﬂs._" G )\, Pa N
o ve Au™ L~ ‘Iﬂu{ =3 «W¥ & y -
| ‘l,}.,m e Qx* 2 AE"S= = -0
lf New,n AADE, ¢E=Q0%  PE=BE-BP
Al Ry _Pyitagonat Thesvem, =_§-;— -,
= l pE2sy AEZ = AD?

} {3;..,) jw /cmn A T, ﬂif‘, -_ o _J

H Ey_:_);_ml= A-D‘

X4 20 LA el
5 - M

" apra st e - .

From @ and CE-)4

L Aw'a Qxz Apt= b ol R
~ 7Ap*=063x" te g axt.

\ _____=> 7a8': qapt,

26. -“

Vromee  pnoved: e _
29} Given: Anse, DC=Gom, AB=Som, ZABCx 6™ Rough Diagnam:.
5 ! To dmws A w/ i—ﬁﬂﬂh‘lﬁk‘ : : ._*
\ Bt
@ . . - ) _/
&l : A/ - : & A
i Y
i 5 cony /
1 . - AB>Sepm "
K N Be=6em
I - : LABC0n?

. AIBD s pequinest fmangle-
PR B @15 em,

BA= 4-5 em.

fa- 425 em.




10 ]

Oswaal CBSE Previous 5 Years' Solved Papers, MATHEMATICS, Class — 10

27. 2

)

)

To praves Gﬁﬂ.:ﬁiﬂl;._*ﬁr
. 2ee?f-cosh i = o
Simplitymy LHS 257

smp-2sinh
__"‘—w

I_Jausfﬁjorﬂ i

_ Cxh (Zt-es_ﬁ_-ﬁ

5 nﬂ Ju (lsm'ﬁ_}]

lm'lld

‘ §in*A4 coe*A "gg ‘A
Zlogi) — [:m'n-lum

| cofA "I
| == FC'HA
= Janpa. Lafd

LHS$=

L

2 e S 4 =;s.£a_=_l_]

Sinfl
os A

_cos?A -~

cort --S rh'ﬂ]

= ginA
ot

-

hewce proved .

28.

24cm

| e know. N éy
= Jhis [R-mE unils-
I To fnd 20 = Jhte (R-0]* it
- “'p 15-5 £
2l 7 ]
L= 2Ccm.

=) (sAa= 1 (Ren)E £G: it

= 3.0ty (1645 )%2€ ooy
=3.M0 ¢ /

O s (632

1\& kviow, Area of theulan bazre = JMn? 59 wnifr.
- ﬁ\d_ls 34 xExs =0-tr




Toppers’ Answer - 2018

[ 11

29.

30.

Tota! area of Sheet = Cunmwed anea + Cingulon bare anea

= 632.8 + 985 emd

Angn = 2113 em?

lh onea of cheet weaded p 17003 e

i)l Plashe buel etr 4o

— -
o -~ __ns_k;,_ I S W —
O hsab2.

i 10w o find: (D ox ke

- / / | L (islesce b A ship)

X ) =2 IO, et B
: ' adair S

__/___ é \ SwPioaG- € LN 0 .-

= = #s \oohee s 00 (5] —

Griven | 3= 1732, » < e
M 4= too1723) & ‘_ﬁ;_tr'fh: distore petueen the boal is |

=ieexo.78s ¥3 . L Tdam.

Livj e
Passe
e~y |

L2375, L
1 @234 |

@2 | & | | et |
-~ L

2 | X 3 O e

23-2¢ o 24 Qepei= Qg S o

Todol: —» | do+¢ Tohs20T

_G.".wn peanz (3. “Tu find; e!gt_wf_'p.__ S G S S

meon (%)= &;’j‘z__ T e e s
24  720-7ous20b-88 :
e .' .l‘. ToUszof — ‘Gi_z;___

e o PR, =2 -

-+ = T

38 4iné ~ 044204,




12 ]

Oswaal CBSE Previous 5 Years' Solved Papers, MATHEMATICS, Class — 10

No. of Workers (Cf) —

50 T
45 T
40 T
35T
30 T
25 1
20 1
15 A
10 A
5 4

1 cm = %20 on x axis
1 cm = 5 Workers on y axis

100

120 140 160 180 200

Daily income () —>



